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Economics
Paper 11

EOMIE
gyautent 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

A ¢ A GIAULEhd THO P9 (100) Sg9aiEt U9 fooiel oMed. Woieh SRemenl /i (2)
U Sed. @d U Wi

1. Devaluation can lead to ...........

1 m .q.rTU.qu ............... W ai
(A) Stimulation of nation’s exports
NETIE
and discouragement in its
imports (A) <3 frafdt W 9 st
(B) Stimulation of nation’s imports
el

and discouragement of its

(B) <IT=AT ST Wiedeid 9 fafd

exports
(C) Discouragement of both the IREISSIEIC T

imports and exports

(C) T F faf Qe ecRehio
(D) Stimulation to both the imports

(D) =t o i AR dieded

and exports

3 [P.T.O.



The Government budget is a record

of oveen. during a given period of

(A) Actual revenues and actual
expenditures

(B) An estimation of revenues and
expenditure

(C) An estimation of the cost of
public  borrowings and
government expenditure

(D) An estimation of cost of public
goods and cost of infrastructure

Tax expenditures are ............

(A) Revenue forgone due to
concession and exemptions in
tax

(B) Expenditure incurred for
collecting taxes

(C) Expenditures incurred by
public on tax payment

(D) Expenditure incurred by

industries on tax payments
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YR eTseh 3 fafymse el o

(A) T Tegd 9 T T

(B) Wega Sfol @ SieS

(C) TMEehIg QraSifeh ahelren =39 3T

Y ©E I e

(D) WS SRqEiel S5 3TaTs ST

TeNd glagekia eEtEr e

(A) ST Fererd! SO SHIiel Y AHD

THTEAA HEga

(B) ¥ Tl ShivATehRdl STciell e

(C) T YWOIEST ARt shelell B

(D) T TOITEST SENTHT el AR

ek




Non-tax revenues are ...............

(A) Shared by states

(B) Collected by firms

(C) Collected by exporters

(D) Byproducts of government
activity

Lifetime welfare of an individual

(A) Can be quantified only in some
cases

(B) Can be quantified

(C) Cannot be quantified

(D) Cannot be imagined

Consumer’s welfare declines due

(A) Collusion of firms
(B) Increase in consumption
(C) Increase in asset holding

(D) Freedom of expression
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(A) TSIHY IEdr STl

(B) SENTHET SHT Shdmd

(C) TrafdewR S s»d

(D) VEhIE SR 3YSARA 2l

(aWal

I SiIfad ShTATd hedTol

(A) S &l ST STedid HisTdl

¥
(B) HiSr i ad
(C) Har 3 e

(D) SHoudl hidl Id TRl

Hod SUHIFATAT HATUNT FHE

(A) SErTERE
(B) UMM o1&

(C) HXIr=AT A a6

D) srfyeafra @A
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If we sum up present time welfare

of all consumers, we ..............

(A) Can decide public policy

(B) Can get aggregate welfare of
society

(C) Cannot get aggregate welfare of
society

(D) Can decide foreign policy

The concept of consumer’s welfare

is :

(A) subjective

(B) objective

(C) negative

(D) positive

Market regulation is required

because .................

(A) firms tend to collide

(B) firms provide welfare facilities
to workers with each other

(C) firms reduce costs of goods

(D) firms provide variety to

consumers
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MU SR Td YA TdHHhR A

[a) [a

A= oSl shell ¥ 3oy

(A) HrESITeh 9RO 3 IRdl

(B) 9HNI= ThUT hedTl qifed & &
ITehall

(C) TN THIT FHeAm Hifgd e
NETEIG]

(D) WfRT O BT Il

SUFATAT HeATITE] Rl

3TTE.

(A) HAfKITS

(B) =3

(C) RUIcHSh

(D) YATcHR

(A) JTTHEATRR  GIEHATE g9
FHAHS

(B) SENTEER AfHRTATS HeATITRRY
gfen geferdrm

(C) ST gxaial a9 ®efad
FHATS

(D) SEFTEE STHRAM = faferean
IS HEA od FHCATHS




10.

11.

12.

Which one of the following is not a

discretionary stabilizer ?

(A) Implementation of widow
pension scheme

(B) Employment guarantee scheme

(C) Unemployment insurance

(D) Shrinking of private incomes

The entire set of Pareto-optimal

allocation in the Edgeworth Box is

called the :

(A) Contract curve

(B) Supply curve

(C) Demand curve

(D) Edgeworth curve

Which of the following does not

accrue non-tax revenue to the

government ?

(A)

(B)

Common property resources
Natural resources to which
private property rights are not
assigned

(C) Assets created from government
investment

(D)

Surcharge

10.

11.

12.
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GTATTIehT ShIUTdT ¥I2eh AR el
& 2

(A) Tagan Faxdt S AsrHe SHcresTao
(B) VSR gHl AT

(C) TSR fomn

(D) WeF{ I 3R

TSEe Yy Wl el farHTsHre
YUl FEen 3T WU

(A) W T

(B) gTEar 9sh

(C) #mmit =k

(D) TEY T

TTeTeTdeh! T ST i FEd
I B e ?

(A) WMES HOGT HIEAEE

(B) 3Teft “Hfifeh HeEm i e

T 99e AfYHR T9ad

(C) IMEfRT TAAUERIGT Ica=1 ATciea
Hd

(D) AR

[P.T.O.



13.

14.

15.

Government policies are :

(A) Always Pareto optimal

(B) Never Pareto optimal

(C) Sometimes Pareto optimal

(D) Rarely Pareto optimal

The Consolidated Fund of India is
formed and Contingency Fund of
India is established as per the Article
Nos.

Constitution of India respectively.
(A) 280, 260

(B) 267, 266

(C) 266, 267

(D) 280, 267

The basic difference between narrow
money and broad money is ...........
(A) The treatment of cash and bank
money

(B) The treatment of coinage and
currency notes

(C) The treatment of demand
deposits with banks

(D)

The treatment of time deposits

with banks

14.

15.
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(A) “EH= N2 TRIH A
(B) = T2 TdH THA
(C) et kel WA Toedd FEAd
(D) Fafaaa W2 a9 A
TRATe Gfed et o7 R STehfes
et Jret T STIHH

TR

(A) 280, 260

(B) 267, 266

(C) 266, 267

(D) 280, 267

(A) @ T ftr s T e AT
qad

(B) O ST =Tt el A=A AT
Tsd

(C) SRISTe AN Sefean ST

(D) ShSEH Hea o= A= Uga




16.

17.

18.

The Reserve money means :

(A) Cash held by the public and the
banks

(B) Cash held by the government

(C) Cash held by the Reserve Bank

(D) Savings with the people

If any person contravenes any

provision of FEMA, 1998, he shall

be liable to penalty upto ...........

(A) Equal the sum involved in such

contravention

(B) Twice the sum involved in such

contravention

(C) Four times the sum involved in

such contravention

(D) Half the sum involved in such

contravention

As per the directives by the RBI, the

priority sector lending of the

commercial banks should constitute

................. of aggregate bank credit.

(A) 80 percent

(B) 60 percent

(C) 40 percent

(D) 55 percent

17.

18.
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(A) SRl 9 ARSEsiad UE T9
(B) YA U@ U

(C) TR dhsaaia a

(D) ARISERA o=l

SR TEmEn R FEMA, 1998 |efita

RIVTTE] TR SEEToH hel, TR AT

Sqh T€ AN Bl

(A) 3T SedoAdal ThHHSdeh! oA

(B) 3TN SccTeANITe Tohie GUIe TehH]

(C) 3TN SocTeATdeT ThH=a 9Tae T&hH

(D) 3TN ScoTsATde Tehare Tt Taehd

o~

Reres

deher TG AEgaR SR

o ;

o

T S feeiell st erEel aifesid.
(A) 80 ZFh
(B) 60 ZFh
(C) 40 ==
(D) 55 TFh
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19.

20.

The commercial banks adopted the

‘Service Area Approach’ in the

(A) 1969
(B) 1991
(C) 1988
(D) 2000
Match the years of establishment of
the following Development Financial

Institutions (DFIs) :

DFIs Est. Years
(@) IFCI @) 1990
(b) ICICI @) 1964
(c) IDBI (@) 1955
(d) SIDBI (lv) 1948
Codes :

(@ B ©© @
A @ @) Gu) (o)
B) Gv) @) @
C) @ Gv) GG Gw)
D) @) Gv) @ G

20.
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(A) 1969
(B) 1991
(C) 1988

(D) 2000

@il o faxia gwen for ==
T AT Siedl Jesal
faerra fa<ita geem  wemueT 9

(@) IFCI @ 1990
(b) ICICI @) 1964
(c) IDBI (@) 1955
(d) SIDBI (lv) 1948
Hehdich

(@ B ©© @
A @O @) @) Gv)
B) () @) @ O
© @ Gv) @) 3D
D) @) Gv) @ 6@

10



21.

22.

23.

The certificate of deposits were

started in .............. in Indian money
market.

(A) 2001

(B) 1969

(C) 1991

(D) 1989

Which of the following is not a
feature of an underdeveloped money
market ?

(A) Existence of unorganised sector
(B) Inadequate funds

(C) Uniform rate of interest

(D) Lack of sub-markets

The basic two types of lease are,

Finance lease and operating
lease
Short-term lease and long-term
lease
©)
(D)

Domestic and cross border lease
Financial and non-financial

lease

22.

23.
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TRl Ygdrel gedrd shefl e

(A) 2001

(B) 1969

(C) 1991

(D) 1989

e Hon T = et =
ISR AT ?

(A) Efed 9o AfEo

(B) 31qu et

(C) THiSHE (FHM) WL

(D) SYSTSIRET 3749

(A) fau areugt ot SFEeR WIS ug!
(B) STeUhIel™ HTSUgT Afor Seiehreti

aTSYeT
(C) eumaia enfor Hemr gt

(D) foxita enfor foR foxita wreue

11

[P.T.O.



24.

25.

The first commercial bank in India
which started merchant banking

was :

(A) Bank of India

(B) Punjab National Bank

(C) National and Grindleys Bank

(D) State Bank of India

Which of the following statements

is correct ?

(i) Reserve Bank of India was

established in 1937

(it) Reserve Bank of India was

nationalized in 1969

(zii) As per section 22 of RBI Act,
the Bank has exclusive right to
issue notes in the country

(fv) C.D. Deshmukh was the first

Governor of RBI

7))

@)

@)

(t11)

(A)
(B)
()
(D)

24.

25.
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ARAT ATIRTS =S ol & hL0RY

(D) Ve d& Afw sfeam
EcleAdeh! hivd faem aeT 3T ?

TR fEreg sfeheit TOMmaAT 1937
ey el
(i) 1969 HEA Iy fgred o

TR oI 3T

@)

~

-
S|

(ii) TR REred o e favm
22712 Regreg el S =erHiHdr=
THAT ARIRR IR

(iv) .2} @ T IR @ S
ufeel Tt Bid

A) @)

(B) @)
©) @

(D) @)
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26.

27.

28.

The Lead Bank Scheme in India was

implemented as per the suggestions

(A) S. Tarapore

(B) M. Narsinham

(C) D.R. Gadgil

(D) R. Gandhi

The ratio of female to male HDI is

(A) Sex ratio

(B) Gender Development Index

(C) Gender Inequality Index

(D) Gender Related Development
Index

in the

Schumpeter believed

existence of the ............... in economic
activity.

(A) Great Depression

(B) Kondratieff cycles

(C) Built-in-stability

(D) Inflation

27.

28.

JUN - 11220/I1—C

YIIER STHA SA0Tel e
(A) TH. ARMUR

(B) wH. Rfged

(C) SR Tefes

(D) AR e

g%y Aa faere FesteRrl fermme

U S
(A) fem TomRR

B) ferm fomm faderen

(C) fam faumar e

o~

(D) fomfeases famm 4

1T

afefes sgasRIaed

SR Yt A= fava™ 2.
(A) Hewe!

(B) WigEl=® wh

(C) sy =

(D) =eTd@
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29.

30.

Full employment ceiling in Harrod’s

growth model is explained as

(A) Steady growth
(B) Maximum growth
(C) Limit to business cycles in
upward direction

(D) Limit to business cycles in
downward direction

What is ‘quasi bottleneck’ according
to W.A. Lewis ?

(A) High technology

(B) Over-population

(C) Capital accumulation

(D) Skilled labour

29.

30.
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e I=1 g§I TrEurdrel g AT

el ST

(A) feer g5t

(B) WeuH IS

(C) AREHENA SHEH HIATeT

(D) FYREhES STENTHT AHiaT

Ty, T, o Ir=A1 7 ST Teva’
/S & ?
(A) =9 A

(alla

(B) 3ATdRE

GIERIEC]
(C) Yiead =91

(D) I HAfHh
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31. Match the following schemes for

development and their launching
years :

Schemes
(@) Sarva Shiksha Abhiyan
(b) Extended Mid-day Meal Scheme

(¢c) Jawaharlal Nehru National

Urban Renewal Mission
(d) Indira Mahila Yojana
Launching Years
@ 2007
@) 2005
(@) 1995
(iv) 2001
Codes :
(@ &) @ @
A) Gv) @ G G

B) @ @) Gu) Gv)

(C) Gv) @) @@ @)
D) @)

@) Gv) @)
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31. Teia foer A S & g& S

g Iqre A Sedl e
DISE

(@) & foan «1hwEm
(b) foqiia Hears WIS A
(c) SETERAE TB& TS AT YA

ANEH
(d) 3feu wAfgen G
s

@) 2007
@) 2005
(i) 1995
(v) 2001
Hehdleh :

@ @) (© @)
A @) 6O @ GG

B) @ @ @)

(tv)
C) ) @) @G @
D)

(1)

(tv) (@)

15
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32.

33.

Which of the following is not an
important reform adopted by the
Government of India after 2014 ?
(A) Deregulation of diesel prices
(B) Financial inclusion programs
(C) Direct transfer of gas subsidy

(D) Structural change in
agriculture and rural economy

Leibenstein’s theory of growth

supports which of the other two

development theories ?

(A) Balanced growth and Big push

theory

(B) Lewis’ theory and Balanced

growth theory

(C) Meade’s theory and Balanced

growth theory

(D) Solow’s model and Big push

theory

32.

33.
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TeiTeTdeh! ShIvT Hewqol FERom 2014

0 IR WhRA  AHaATd AT ]
T ?

(A) e fopmd= o

(B) forxita WHIERM hTishH

(C) 9 TRMN 9T T

(D) et omfor yTHOT refeawSdld

GLEAIcHS ded

ATASETE AT JGT TIGIa 10T S’

TH foem fagmamn Tudfs o ?

(A) Tqferd g5t 3Tfon Yeles = fagia

(B) wiform == fagia oo Sqfer gl
fagma

(C) e = fagra snfor wqfaa gt
gt

(D) Hiell A= Y&q S0 Foies =rer

gt
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34.

35.

Which of the following is not a

criticism on Fei-Ranis theory of

development ?

(A) Neglects changes in land supply
in long-run

(B) Neglects industrial sector

(C) Assumes closed economy

(D) Assumes wage rate above MPP

A technological change in the

economy is said to be neutral

It happens without any new

investments

(B) It does not affect production

level

(C) It is both capital-saving and

labour-saving

(D)

It is neither capital-saving nor

labour-saving

34.

35.
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WA IO 2Rl . G Fre

faerrg fagraeda &t ?

(A) 3T FTesrdial Hl YIS
SeThe goiH

(B) siEifin &=mhe gy

(C) dfew srefeaed Téa

(D) R Hifeh SRR qriesd
T TR

I Ao sigd qeLd 37”3

(A) IR el AU TTEE o ¥ET

Al

(B) <M= 3cAE Uldeste TiLomy 2id et
(C) B ocd Wisad 3T 919 Sreid sad

HLOW ATl

(D) BT o Hiedd-add A0 2H-o=id

T < el hid ATl
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36.

37.

The Global Hunger Index (GHI) for

India in 2018 was at ............. rank.

(A) 101st

(B) 102nd

(C) 103rd

(D) 104th

An important feature of the neo-

classical growth models is that

(A) They invariably incorporate
population factor in explaining
growth

(B) They focus on backward
economies

(C) They focus on change in
technology in the economy

(D) They take into account only

agriculture sector

36.

37.
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2018 A& WRATET WATfdsh Y&

(A) 101=n
(B) 102=n
(C) 103=

(D) 104=n

FA-AST TSI TEIE Th Heoqul

Iy mOS

(A) a0 FE=A TR ATRHEA

SISShTT ST2BT0] HHISTT Shetall STHdl

(B) & Ured AT 1efemeeer shigd

e

(C) & ey STTHTEATA T SigeTiok

whiga Ted

(D) T WEd e FHut & faan S
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38.

39.

Which of the following criterion for
development has been put forward
by A.K. Sen ?

(A) Social marginal productivity

criterion

(B) Reinvestment criterion

(C) Time-series criterion

(D) Income criterion

(z) A life table can be constructed
for a country and an area on
the basis of sex, occupation and
race, etc.

(it) The cohort or generation life

table summarises the age
specific mortality experience of
a given birth cohort of its life.
What can you say about the above
statements ?
(A) Statement (i) is correct and
statement (ii) is incorrect
(B) Statement (i) and (i) both are
correct
(C) Statement (i) and (i) both are
incorrect
(D)

Statement (7) is incorrect and

statement (i7) is correct

38.

39.
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WTeiieTueh! il fashrmn s T..
T T A A ?

(A) TSR HHd Scargehdr e

(B) gTdaves fTew

qHI-HATfeTeh! THens

3= e

©)

D)
() Tom, e i ST SeReR

TEE SIMES A0 JRIIETat

STTeERUT qIR hidl 3d

(i) hige e Tuet SiaaRul sHer=

S g JHM TIRE GG
STYATE TRl hid

TR TagMaEe 90 I 8] Iehdl ?

(A) faum ) A= sfo faum (i) sEr
3R

(B) faum (i) enfr (i) dra emea

(C) faum () smfor (i) &g emea

(D) faeum () sw=&ma e (i) 9 TR
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40. Access to the broadcast signal from

41.

a radio station is :

(A) A private good, but the station
itself is a public good

(B) A public good, but the station

itself is a private good

(C) Both the radio station and

broadcast signal are private

goods

(D) Both the radio station and

broadcast signal are public

goods

Due to urbanization which one of the

following changes we get to see ?

(A) Decreased arithmetic density
but increased physiological
density

(B) Decreased both arithmetic and

physiological densities

(C) Increased arithmetic density

but decreased physiological

density

(D) Increased both arithmetic and

physiological densities
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40. IS TUMEHEE SO TEROT femet
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(A) TeFft a%) 907 Ehe TWHw T
qeSIeh %] 38

(B) WrESieh a%q o7 YIS TH T
WA o] 378

(C) {Etel Tren onifor TR feer =0

ARG e W

(D) Stei Toe omifor R fAder =

N A [
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41. VRO WIATTIh! IOl aga

saedren foga Id ?

(A) HHT Ferelt oM SaT STIoT seere
CIRCANRCEGI]

(B) ! SiTerelt Tort SAIfor sfifcent == an

(C) e@eie! TIUTT BaT 9T shHT FATete!
CIRCANRCEGI]

(D) dTectent ot emfor siifqent s
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42.

43.

44.

Which one of the following is not a
market failure ?

(A) Asymmetric Information

(B) Monopolies

(C) Externalities

(D) Economies of scale

Which is the least urbanized state
in India as per 2011 census ?
(A) Assam

(B) Bihar

(C) Himachal Pradesh

(D) Orissa

Which of the following determines
the bargaining between those who
perpetrate pollution and those who
suffer from such pollution, with
‘property rights’ determining the
outcome of that bargain ?

(A) Pigouvian Tax

(B) Coase theorem

(C) Tradeable permits

(D) First law of thermodynamics

42.

43.

44.
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WEAATeh! IV SN ST A& ?
(A) E9EY Hifed!
(B) HeKigA

(C) e

(D) 31 ScIIE™ IR

201141 SVHTER HRART Haid s
IR ATAA TS HId 2

(A) 3TEH

(B) foer

(C) feArsad wew

(D) i

el T © SRIEd Rl FgOE

ST FHIUMR T T Fedl i, I

drar wfaa ? ‘A sifuer
I’ ?

(A) faeita

(B) IS ¥HA

(C) =AMRITT qE™

(D) 3wrTfqeRtan yem fagia
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45.

46.

47.

The part of Earth’s surface that is
physically suitable for permanent
is known

human settlement

(A) The ecumene

(B) The ecosystem

(C) The ecosphere

(D) The biosphere

Which of the following is not a

Greenhouse Gas ?

(A) CO,

(B) SO,

(C) Water vapour

D) HyS

What does NPP stand for ?

(A) National Population Prog-
ramme

(B) National Population Project

(C) National Population Policy

(D) National Population Production

45.

46.

47.
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G STHT TSN S HIEHEE! HIAE]

I&T] IHIUIEG A SR, el
TEUTA.

(A) e we@

(B) Hftween

(C) uR&@s

(D) SfreraRe

TCAeush! o TRaJe org ATl ?

(A) HTET SRS

(B) 9c®{ SEAHES

(C) U™ TSy

(D) TESISH Hohlgs

NPP % &3< dfy< ®9 <gfed ?

(A) T ARIEA HTHHT

(B) TS chaEA Yohed

(C) TSI hg®Al &Rl

(D) UL AFGEAT IR
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48.

49.

As per World Resource Institution

(WRI), which country pollutes our

atmosphere more than the other

countries ?

(A) China

(B) Canada

(C) India

(D) Australia

The base year for Wholesale Price

Index (WPI) has shifted to

against the earlier 2004-05.

(A) 2017-18

(B) 2016-17

(C) 2013-14

(D) 2011-12

48.

49.
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T I ARV 3Tfeeh Jg o
wA ?

(A) =

(B) el

(C) wrd

D) siEfe=

TetaT 2004-05 A1 FETEAT A BTk

o

EXGRE
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(A) 2017-18

(B) 2016-17

(C) 2013-14

(D) 2011-12
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50. As per Global Gender Gap Report

2018, match the country with their

rank :

Country

(@) Pakistan

(b) India

(¢) Nepal

(d) Sri Lanka

Codes :

(@)

)

(A) Guv) (i)

(B) Gi) ()

© @

€2)

D @ @

(c)

€2)

@

(ii0)

(iv)

Rank

108

@)

(i) 148

@@i) 100

(w) 105

(d)

©)

(i)

(tv)

(itd)
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50. SMifdss o 95 qwEd oTed™ 2018

AR, <F 9 AT HAARITER Sl

SICINE

L
(@) dIfR&™
(b) WA
(c) U8
(d) #ierh
Hehdich

@ (b)
(A) Guv) @)
(B) Gi)) (@v)
© @ @@

D @ @

(c)

€22)

(273)

(tv)

HUART
@ 108
(@) 148
(i) 100

(tv) 105

(d)
@
@ @

(iv)

(iti)
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51.

52.

53.

Which state has the highest
share in the loan disbursement
under MUDRA Scheme since its
inception ?

(A) Tamil Nadu
(B) Karnataka

(C) Maharashtra
(D) Uttar Pradesh
‘Angel Tax’ refers to ...............
(A) Start-ups

(B) MSMEs

(C) Insider Trading

(D) Hedging

‘Zero Defect, Zero Effect’ is the
mantra of ...............

(A) Ministry of Heavy Industries
(B) Ministry of Food Processing

(C) Ministry of Textiles

(D) Ministry of MSMEs

51.

52.

53.
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A3 Ao FEATAAA ot oraqond

I oI Halteeh e e ?
(A) HSTS
(B) hHieeh

(C) H8Ieg

(B) |&H, <19 o HEAH 3IURHA
(C) 3t famt
(D) =

I TR, I 9o’ ®
GG

(A) 3TeSTS I HATOHE

(B) 319 wfshan wae™

(C) TN HATAT

(D) g&H, TRM 9 HeAH IUHH HACH
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54. Match the following :
Programme
(@) Make in India
(b) Digital India
(¢c) Skill India
(d) Start-up India
Date of Launch
(@) July 15, 2015
Gi) July 1, 2015
(iii) September 25, 2014
(fv) January 16, 2016
Codes :
(@ &) @ (@
A @ @ @) (o)
(B) @) Gv) @) @)
©) Gi) @) @ (o)

D) G@v) @) @) @)
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54. IrY Siedl el

Eopta)

(@ BF & sfea
b) fefSea sfem
(c) e sfeam
(d) ®fE e gfe

Hifod sheamen faieh
G) 9 15, 2015
(i) S 1, 2015
(ifi) FeeX 25, 2014
(iv) SHeRl 16, 2016
Hehdieh

@ B © @
A GO G G G
(B) Gii) Gv) G @
©) Gi) G &) G

D) Gv) @@ G @)
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55.

56.

International Debt Statistics Report

is annually published by

(A) Asian Development Bank

(B) World Bank Group

(C) International Monetary Fund

(D) World Economic Forum

Which one of the following publishes

Annually Economic Survey of

India ?

(A) Department of Revenue

(B) Department of Economic Affairs

of Financial

(C) Department

Services

(D) NITI Ayog

55.

56.
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‘ARSI BT AIEASR! TEAT

(A) iy fawm o
(B) SIFTfae s HHE
(C) Tawrsdra oy faeh

(D) SMfder eTféier o=

(aV AN (aV ¥ < o (a
LTATAYh] hIUTHTR T SITE HRATHI

el UTEUN 3TEaTa UhIITd Shel

S ?

(A) wega faum

(B) o7fefer wreifaoes faym

(C) foxfg Fan faum

(D) il A=
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57.

58.

National Urban Livelihood Mission

(NULM) was launched on

India.

(A) September 5, 2013

(B) September 23, 2013

(C) October 2, 2013

(D) August 15, 2013

The new National Youth Policy 2014

includes the youth between the age

(A) 15 to 29

(B) 15 to 35

(C) 18 to 30

(D) 14 to 25

58.
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AR Ssiifaent Sy (NULM) 9%
7.

(A) <R 5, 2013

(B) ¥R 23, 2013

(C) eI 2, 2013

(D) ATE 15, 2013

T TSI JAT €0 2014 HER

(A) 15 d 29
(B) 15 d 35
(C) 18 @ 30

D) 14 d 25
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59.

60.

The term ‘Economic Convergence’
refers to

(A) Less developed countries
growing faster than high
developed countries

(B) Less developed countries
growing slower than high
developed countries

(C) A term used by World Bank to

refer the impact of environmental

degradation on growth

(D) Reducing inequalities between

the poor and rich people

The financial year for Reserve Bank

of India (RBD) is ..............

(A) January—December

(B) April—March

(C) October—September

(D) July—dJune

60.
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(A) 3=a fofaa Teeden wH fasfad
e Seg T JSHTd BIard

(B) 3=a foefaa Teeen st faswfad
T FHH TN FSMA B

(C) STfceh sfehd B Heheadl FAEL
=grErET Sfes® ggiar g
ROTEET HeWid aTel 8T

(D) T a7for sfia areRmeEe favaa

¥ O B

g fegeg sfhw (RBI) foxiia =

(A) STHaR— fedar

(B) Tfye—ard
(C) ATRIR—TLR

(D) JA—sH
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62.

utility means that an
individual can attach specific values
or numbers of utils from consuming
each quantity of a good or basket
of goods.

(A) Ordinal

(B) Marginal

(C) Cardinal

(D) Equi-marginal

The following diagram typically
represents ............... of il
production function.
A
Cost
in%
0 Output

(A) Total cost, non-linear
(B) Total fixed cost, linear
(C) Total cost, linear

(D) Total fixed cost, non-linear

TG
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61. TEMRI Kl SR %] fehar o] d=men

YN 3yAfitar sk fafyre qea

fohell TenehTd =T i A dX T

(A) eI
(B)

(C) kel
(D) TH-FrHA

© IR HgR evleell 3.

(A) THU =,
(B) THU feer =@, T
(C) THU =, T

(D) THY FER =4, oY
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64.

............. refers to the covering of a
foreign exchange risk.

(A) Arbitrage

(B) Hedging

(C) Purchasing power parity

(D) Mint parity

results when each player
adopts the strategy that gives her
the highest possible pay off if her
rival sticks to the strategy she has
chosen.

(A) Partial equilibrium

(B) Nash equilibrium

(C) General equilibrium

(D) Long-run equilibrium

64.
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................ TEUTS] TR Tl S Ta
.

(A) R T

(B) =4

(C) HATSKT FHT

(D) 2ThdTes HHME

odeh ©oolg, ST SElel WiehrRdl i,

oSN

fHead,

oS T ST ST e sat

SR o= gfaqeedt faen fofemer o ufeed

(A) =TSR |qed

(B) 91 FqeH

(C) FEHYR Hged

(D) <rEwREE Tger
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65.

66.

Price set by an authority is called

(A) Transfer

(B) Fixed

(C) Administered

(D) Limit

Positive Net Present Value (NPV)

means that the expected return on

the project exceeds :

(A) Opportunity cost of funds

(B) Variable cost of funds

(C) Fixed cost of funds

(D) Variable and fixed cost of funds

JUN - 11220/I1—C

65. S AMYRR HedM fhad Sl 3T 8d T

66.

fohAa 318 wUrdrd.

(A) BEIH

(B) f&Rr

(C) gemi&d

(D) W&

¥ Teaes a9 Hod STl Jehedre’ia

(A) T |t < =gamen

(B) fAef=n sgorcan saamietn

(C) A frer =mamen

(D) TIef=n sgaren v feer =amen
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67.

68.

Absolute value of the slope of the

production possibilities frontier at

any point :

(A) is equal to the marginal rate of
transformation

(B) is equal to the marginal rate of

substitution

(C) marginal rate of substitution

is equal to marginal rate of

transformation

(D) marginal rate of substitution is

not equal to marginal rate of

substitution

The first theorem of welfare

economics states that :

(A) A competitive equilibrium is
Pareto efficient

(B) A competitive equilibrium may
be Pareto efficient

(C) A competitive equilibrium may
not be Pareto efficient

(D) A competitive equilibrium

maximises profit

JUN - 11220/I1—C

67. IR IERIAT SAshT=A1 SART hael oo

SERTERIA ShIVTRl forguTelt

(A) HH ®UR SUTAS 3T

(B) HH1 wHiEal SUUEE 2T9d
(C) HHMT TUR T HHT JA7al T0-

Tae 19l

(D) T ®YR T TH I

TUTER Al

68. HTATY STAVMEATAT Ufgedl THAIER :
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(B) Tydicws Tgem RS wEEE oY

MEX

(C) Ta¥icHeh e W2l hrderd o=

TRl 3T

(D) T FIeHMes TR HeaH-
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69.

70.

71.

The first fundamental theorem of
welfare economics assumes the
supply of :

(A) Inferior goods

(B) Public goods

(C) Common goods

(D) Giffen goods

Asymmetric information results
into :

(A) Market efficiency

(B) Adverse selection by consumer
(C) Government failure

(D) Market success

“As the quantity of one variable
input in a production process is
increased, with quantities of other
inputs remaining constant
........... firstly increases, then after
reaching a maximum, starts
decreasing and finally becomes
negative.”

(A) Marginal cost of the product
(B) Value of marginal product
(C) Marginal physical product

(D) Marginal revenue product

69.

70.

71.

JUN - 11220/I1—C

FHTATT SLTMET=A1 dfgean qaya

IHHEY Hifgd THaEM

(A) STST=AT SIS

(B) SUHIFRAM shetedl il e

(C) YA A9IENd aid
(D) STSIRT=AT I90Md B
I Ufshad, AR STeM=A A feer

STEAMT Teh! SISecdl SIS ST |

&Y Idesion Geacda N e Bls
T d RUTCHS B

(A) Scatfearn HHid e

(B) Scifedrd HiHiq Hed

(C) Hrwia sfifaess e

(D) HH[ IARA qoA
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72.

73.

To get economy out of a slump,

Keynes suggested that :

(A) Increase both taxes and Govt.
spending

(B) Increase taxes and reduce Govt.
spending

(C) Reduce both taxes and Govt.
spending

(D) Reduce taxes and increase

Govt. spending
In a circular flow of income,
Keynesian equation is obtained
when :
A S=LT=G
B S+T+M=I+G+X
(C) There

is no inflation or

unemployment

M S=1M=X

72.

73.
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A=A dd AR StefeeRde e}

JSUIIE, ey Il At

(A) T 3T R ©F Sl drel

(B) X a3 TR ©E &Hl

h .

(C) T MU TR ©E S8l HHl
Xy
(D) T KT HY AN W T

dledl

YT Thid TATEMHEd HhATaaq

A S=LT=G

B)S+T+M=I+G+X

(C) WRIE 3mfor Ssemy = ret

D S=I, M=X
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74. Which of the following ratios best

75.

describes the GNP deflator ?

(A) Nominal GNP to real GNP

(B) Real GNP to nominal GNP

(C) Nominal GNP to real GDP

(D) Real GNP to real GDP

Demand side unemployment is

partly caused by :

(A) Imperfections in labour market

(B) Occupational and geographical

immobility of factors

(C) Demographic changes

(D) A lack of aggregate demand

74.

75.
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EeTerdeh! S0 UK § THUT TR

ST TeAq Hehlgeh el YehIt T2
EXCI

(A) STHAT THUT T S oS

TRUT ST

(B) SR THUT TS Scq=Td ATHHT

el bl SAq—IRI

(C) STHHE THUT T S o
THUT ST ST
(D) ST WU TSI 3= AT

AT THUT QRN ST

~

ARl & Sivra: Arqes

faY N
HEUISIH o

(A) #IfHeh FERUSHA STARYUTd

(B) Seehil =ga@rtaeh oo Wriiferen

STEAT

(C) RIS ded

(D) THU HETU=T 3T
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76. Which of the following hypothesis | 7¢ Frefreie sivm REEE g
says that the young generation
deul Tt s wid enfor et fudt
saves while the old generation
: 30 Sed wd ?
dissaves ?
(A) Human capital (A) Al TeTa
(B) Life cycle (B) Sie=ish
(C) Permanent income
(C) =" 34—
(D) Keynesian consumption
(D) ®HHd 3UHM Hed
function
77. Which of the following is likely to | 77. wrcficiies! IomeT SUUFTER ThRICHS
have a negative effect on aggregate
. JIE qSUATE YRR ST 7
consumption ?
(A) An increase in expected
(A) eTufer HBMTE o
inflation
(B) A temporary increase in labour (B) SHIFTRMEAT A AR a1e
income
(C) \HHT =S TS 916
(C) An increase in nominal interest
rate (D) TR S e
(D) A permanent increase in labour
income are
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78.

79.

80.

The ratio of the change in the output
to a change in autonomous spending
that causes the changes in the
output is called ...............
(A) Marginal propensity to save
(B) Multiplier

(C) Accelerator

(D) Marginal propensity to consume
According to monetarism, the
demand for money depends upon
(A) Inflation rate

(B) Interest rates on bonds

(C) Rate of returns on all assets
(D) Money supply

The Aggregate Supply (AS) curve
and Aggregate Demand (AD) curve
in a realistic Keynesian world are :

(A) AS : fully horizontal; AD :

downward sloping

(B) AS : horizontal only fill the
employment level; AD
downward sloping

(C) AS : vertical, AD : upward
sloping

(D) AS : horizontal; AD : vertical

78.

80.
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IURAA dgd Segl dgald Scaligd ©
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degl ATl T
(A) i &= Jgt
(B) TR

(C) =h

(D) e U g

(A) HETTE <X

(B) Uil SASTel

(C) Hd HATAHTE A=l <X
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81.

82.

The quantity theory of money

implies that given the velocity of

money, a given percentage change

in money supply would cause

(A) An equal percentage change in
nominal GDP

(B) A larger percentage change in
nominal GDP

(C) An equal percentage change in
real GDP

(D) A smaller percentage change in
nominal GDP

Probability of (A U B) = P(A U B) =

(A) P(A) + P(B)

(B) P(A) + P(B) - P(A n B)

(C) PA) + P(B) + P(A U B)

(D) P(A)/P(B)

81.

82.
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o SeaE fagia gaad i feore

Yomen a1 snfor Yo et oo

N

IR HRU Bed

(A) STHHET Hehed SN Sca—Td THE
TFRHAN SEd
(B) STHHET Hehel TN Icq=I1d Aot

TFHAR! dgdA

(C) aTdd Tehed <IMAvd Sca—d THH

TFHAR Fgd
(D) FAHHEE Tehel <IN Scq=Td HHt

TFhAN] a8
(A U B) = P(A U B) =T "y
AT IV ?
(A) P(A) + P(B)
(B) P(A) + P(B) - P(A n B)
(C) P(A) + P(B) + P(A U B)
(D) P(A)/P(B)
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83.

84.

85.

X

......... n

If X, X, is a random

sample from a normally distributed

population with mean p and

ey
variance o2 and let S2 = M,
n-1
2

then S—2(n -1) follows :
C

(A) Chi-square distribution
(B) F-distribution

(C) t-distribution

(D) normal distribution

Suppose, in a regression model,
Y. =

; o + BX; + e;; covariance

between X and e is not zero.
Then :

(A) OLs estimates are biased and
inconsistent

(B) OLs estimates are biased but
consistent

(C) OLs estimates are unbiased but
inconsistent

(D) OLs estimates cannot be

calculated
A random walk time series is :
(A) Stationary
(B) Impossible to analyze
(C) Non-stationary
(D) Not useful in real world

83.

84.

85.
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S Xl’ X2,
foere™ 62 STl HeHIRUl ford<on-

A Egadl T AHAT 8 SATfur

SZ:M a@am%(n—n%
"

foreron Trefiaten! STEd :

(A) Chi-square fo=u

(B) F-foero

(C) ¢-formrm

(D) HeHER fo=ro

o + BX; + e; ® T
JAT T SfaHMa X S0 e =1 HeEs
A A W e

(A) Ui g AfWHd 9 gEIT
BRI

HHST Y, =

(B) TUTeh™ SRS STFYHA ST|a g
I 5

(C) U 3TGTSl GETa 3T T
AT T

(D) ORI SIS hledl Id ARl

W 9@ HAgEe g o

(A) TeR (Stationary) T8

(B) WA HTAFECE TIveIom 9Tt
S

(C) IR (Non-stationary) 3T&d

(D) drdfaesh SEA IUART= 46
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86.

87.

88.

89.

Rejecting the null hypothesis when
it is true is referred to as :

(A) Type II error

(B) Type O error

(C) Type I error

(D) Type III error

If P = 20 — 3q is the demand function
and C =3+ 2q2 is cost function, the
profit maximizing output is :

A 1

(B) 3

(C) 2

D) 4

Let y = 3x% — 6x + 10. Which value
of ¥ minimizes this function ?

A 1

(B) 2

C) 3

D) 0

Let A = {2, 3, 1} and B = {4, 5, 6}
be subsets of X = {0, 1, 2, 3, 4, 5,
6, 7, 8,9, 10}. Which of the following
describes AC N B ?

(A) {4, 5, 6}

B) {1, 2, 3, 4, 5}

(C) {2, 4, 5}

(D) {5, 6, 8}

86.

87.

88.

89.
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Hos Tfgdesh (Null hypothesis) @
STEAHTR! ARRE Su el

(A) Type II error WUl

(B) Type 0 error UK

(C) Type I error WUrArd

(D) Type III error FUrAId

SR P = 20 — 3¢ ¥ HEUN el ST

C =3 + 2¢2% ¥ 99 ol 3™ T T

ARl 3careA fohet TR ?
A 1
B) 3
©) 2

D) 4

AT y = 8x2 — 6x + 10 WA W
TICAAUsh! y = FIOM qod a1 Helel
fram wEiRudd e wehd ?

A) 1

(B) 2

) 3

D) 0

TSI EE X =1{0,1,2,3,4,5,86, 7,
8,9, 10} 9= 3UEH A = {2, 3, 1} sTfuy
B = {4, 5, 6] R Treiieiist AC A B
e U HIMAT HEEM HI d5a 2
(A) {4, 5, 6}

B) {1, 2, 3, 4, 5)

(C) {2, 4, 5}

D) {5, 6, 8}
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90. LetY = Ak“LP be the Cobb-Douglas

91.

production function. When does this
function exhibit constant returns to
scale ?

A a=28

B a+p=1

C)a+p=20

D a+pP<1

2 1 L
Let A = . Then A™" is given
1 2

by :

(A)

|~ |
N N =

(B)

A|L NS
NS .A|,'_,

(&)

N N )
NG N

(D)

NREFN IS
NHREFN I

JUN - 11220/I1—C

90. TEST Y = ARYIP ? Sla—erad Icue

91.

el A W B Hal R STHY g

dhegl TUIY WA 7

(A) oo =P
B) a+p=1
C) a+p=0
D a+pP<1
2 1
SA = },HIA—laa‘rq‘@éa?
1 2
21
(A) 8 4
1 1
L8 4
2 -1
4 4
(B)
-1 2
L 4 4
2 2
©€) 4 4
1 1
L4 4
2 2
D) 4 4
-1 A
4 4
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92.

93.

Deficit on the balance of payments

accounts can be corrected through

(1) Demonetization

(i1) Nationalization of industries
(z11)) Exchange control

(tv) Import quotas.

(A) (@) and (i)

(B) (i) and (iv)

(C) (@) and (@it)

(D) (@) and (v)

This financial institution was
established in 1930. Its activities
were taken up by the International
Monetary Fund in 1945. It may lend
to the central banks in the

world that are its members. This

description refers to

(A) Bank of International
Settlements

(B) The World Bank

(C) European Central Bank

(D) Bank of England

92.

93.

JUN - 11220/I1—C

FIENAA  Teeid e

qe chall e TR
IR ENRIETU
({) ST TSR
(ii) == T
(lv) @ HIA

@

(A) () 3fur (1)

(B) (iii) 37T (i)

(C) () T (ii7)

D) @) 3’ (v)

I G T HT 1930 HEY HI0A
3Tl T 1945 HEH o T 3UHH S -
T FHUIAE A,
ST a1 HEAS sieh] A1 L= &

3Med AT AT TGN s qLEal el

N [a) N

{Ilr\béq RIS EIE S

S ¥ehal. § e
STfAMRE .

(A) dF 3h TTHIFA JeTie
(B) SFKie s

(C) FUfTa e dah
(D) &% AH TS
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94.

95.

96.

Council for Mutual Economic

Assistance (CMEA) 1is an

organization of countries.

(A) Developing

(B) Soviet Union and its allies
(C) African

(D) South American

If the purchasing power parity
prevails absolutely in two country

world, the real exchange rate

between two countries should

(A) One
(B)

()

Constantly rising

Relatively stable but not
constant

(D) Relatively unstable

Exchange rate that is determined by
unregulated forces of supply and
demand are ..................
(A) Fixed exchange rate
(B) Floating exchange rate
(C) Pegged exchange rate

(D) Managed exchanged rate

94.

95.

96.
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HIITA At R[TA gehirleh A4

(B) Wifegaa 99 9 @ iR
(C) 3ftherd
(D) <faror emdieRa

SR S SIM=AT ST @Rl Yokl o

A R A TF WA o fafa
(A) T
(B) Hdd el

(C) dmedy ferR mq fer =

(D) groeren arfEer
AfRisa WO afn e v freia
S e .

(A) feer fafma

(B) Wad fafm &
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97. The optimum tariff is

(A)

(B)

(&)

(D)

that minimizes the net benefit
resulting from the improvement
in nation’s terms of trade
against the positive efffect
resulting from increase in the
volume of trade

that maximizes the net benefit
resulting from the improvement
in the nation’s terms of trade
against the negative efffect
resulting from reduction in the
volume of trade

that does not maximize the net
benefit resulting from the
improvement in the nation’s
terms of trade against the
negative effect resulting from
reduction in the volume of trade
that does not minimize the net
benefit resulting from the
improvement in the nation’s
terms of trade against the
positive effect resulting from
increase in the countries volume

of trade

JUN - 11220/I1—C

97. TAH SRl WU

(A)

(B)

()

D)

ST SHTIR AT R STE =T
YIS TRUMHTES QRTT=AT SR~
TTCTd GEROT BIeA YTl ek, AT

fra™ aTdedt

ST SR SR HMATI . S =T
FOCH TRUMHTES TRT=A SATIR -
TTt YEROT Bl W Aok ST

HgqH TTded!

YA SATUR SR HMTA S =T
UM IROTHTHES ST STIR-

I YR Be[d 37U okl AN

o} o
HeTH[n{Ul Yldool

ST SHTIR AT AT ST

TR IRUTHMES QR SATIR-

TTTd GO Ble[d 3T ok Y

o} o
HeTH[n{Ul Yldool
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98.

() This institution began its
operations in 1947.

(i) This institution promotes
exchange rate stability

(zi1) This institution was set up after
the Bretton Woods Conference

The institution refers to above is :

(A) International Monetary Fund

(B) International Bank for
Reconstruction and
Development

(C) Bank of International
Settlements

(D) International Finance

Corporation

JUN - 11220/I1—C

98. (1) o1 TXIF T 1947 HEY 3T hrd

gE el

(i) @ Teen fafma X Wt yoads

3TTR.

(i7) 1 ST T fofert e SR

(A) ST AT

(B) STaWrse™ gRf-mio o fowm o

(C) ST THST ek

(D) AT foq Aemes
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99.

100.

Which of the following does not

match ?

(A) Food and  Agricultural
Organization — Rome

(B) United Nations Fund for
Population Activities — New
York

(C) Bank for International
Settlements — London

(D) International Monetary Fund

— Washington
Which of the following international
financial institution provides a ‘Soft
Loan Window’ from which
developing countries can borrow in

hard currencies ?

99.

100.

JUN - 11220/I1—C
TIeAeTdeh! IR SiIet Jeid A& 2
(A) ®E 2ivg sffimheaRd SHRERE

—

(B) IS TH He TR WIeRH

S — g

(C) o TR ST HeoTHeq — TS

(D) SEEIAS "R he — SifTed

TIeATeTIeht IV SRS foritar dgen

[N

‘gav &e faest’ =t e qiad

i SMgN ol e I@ el =g

ITehard 2

(A) International Development
Agency (A) A faw™ Tol
(B) International Monetary Fund B) = f et
(C) International Finance
Corporation (C) s ford wRrees
(D) International Bank for . o e~ o ~
(D) ATAWRTSEE GAUTHIT F TdohTH
Reconstruction and
Development EEd
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